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QUESTION 1

A SDP is created on Node-2 with the far end address set to Node-3. The SDP stays down on Node-2. Based on the
following CLI output from Node 2, what is the caused of the problem? 

A. No LDP link session between Node 2 and Node 4 

B. No LDP link session between Node 4 and Node 3 

C. No LDP link session between Node 1 and Node 4 
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D. No LDP link session between Node 3 and Node 2 

E. None of the above 

Correct Answer: B 

 

QUESTION 2

Node 1 receives some VPRN routes from Node 2, but Node 2 is not receiveing any VPRN routes from Node 1. Routes
in VPRN 400 route table are found on Node 1 as follows: Based on the configuration below, why is Node 2 not receiving
BGP VPN routes from Node 1? 

A. VRF import and export policies defined on Node 1 do not match with vrf-target defined on Node 2 
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B. Prefix-list exportVPRN100 is applied on Node 1 but not on Node 2 

C. More than one import route targets are defined on Node 1 and only one defined on Node 2 

D. VRF target has to be defined on Node 1 as well 

E. Community target:65535:101 is not defined on Node 1 

Correct Answer: E 

 

QUESTION 3

The LDP session is not down between Node-1 and Node-2. Based on the following configurations, what is the cause of
the problem? 

A. LDP targeted-session is enabled with no service configured 

B. OSPF adjacency is not up between Node-1 and Node-2 

C. Router id is not advertised by OSPF 
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D. LDP is disabled on Node-1 

E. Traffic-engineering is not enabled on Node-2 

Correct Answer: C 

 

 

QUESTION 4

Two routers are physically connected to each other with ISIS configured. No ISIS adjacency can be found on both
routers. Ping works fine on the local and the remote interface addresses on both routers. Review the confguration
information shown below. Which of the following statements best describe the cause of the problem? Select one answer
only. 
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A. The ISIS interface level configured does not match the ISIS level capability supported on the routers 

B. The ISIS authentication check is enabled but there is no authentication type and password configured 

C. ISIS Area addresses are not configured on both routers 
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D. L1 wide Metrics are disabled on the routers 

E. ISIS Circuit id does not match on Node-1 and Node-2 

Correct Answer: C 

 

 

QUESTION 5

The mesh-sdp binding for a VPLS configured on Node 1 is down with an error serviceMTUMismatch. One sap is
configured in the VPLS and it is up with default mtu 1514. The LDP binding display on Node 1 shows that there is a
mismatch on the MTU value. What are the required configurations on Node 1 to bring the VPLS up? 

A. Set the sap port mtu to 9176 

B. Set the service-mtu to 9176 

C. Set the service-mtu to 9190 

D. Set the sap port mtu to 9190 

E. Set the service-mtu to 1514 

Correct Answer: CD 
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